In [1]: import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
# UESDDS A TS UM 32D
#INUESRLETERTT S
# %precision 3
t RERMDIA 2 RITRTTZ(TIAILEIE inline)
# Y%matplotlib notebook

In [2]: # Z185% B(n,p) DEE
from scipy.special import comb #HHEEHEES
n=80 B INSA—FDERTE (KEL n)
p=0. 04 B INTA—ZDHETE (IS p)
# x_range=np. arange (n+1) it (KF) x OEHAIT 0 ™MD n FTO n+1 BEDEHK
x_range=np. arange(0,12,1) # x DEHEDIETE. 1=, Ea. ZHIE
def bin(x):
if x in x_range:
return comb (n, x) *pxxx* (1-p) ** (n—X)
else:
return 0
BinProb = np.array([bin(x) for x in x_range]) # x_range (E&E) O& x [T L THER%EHE

In [3]: # R7YV 2% Po(lam) DES
from scipy.special import factorial I PSEERES
| am=n*p #t /8T A—=% A=np [ZERE
# x_range=np. arange (12) it x OFEEIZ 0 AD 12DEH% (%Y. 11£FT)
# x_range=np.arange(0,15,1) # x OEHEDIETE. tA5E. BH. ZAE
def po(x):
if x in x_range:
return np.power (lam, x) /factorial (x)*np. exp (- lam)
else:
return 0
PoProb = np.array([po(x) for x in x_range]) i x_set(E&EE) OF x I L TCHEREZHE

In [4]: # HERSMRTLER
DT=pd. DataFrame (x_range, columns=["x"1)
DT[' Binomial  ]=BinProb
DT[ Poisson’ 1=PoProb
DT

Out[4]:
x Binomial Poisson

0 O 0.038168 0.040762
1 1 0127226 0.130439
0.209394 0.208702
0.226843 0.222616
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0.181947 0.178093
0.115233 0.113979
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0.060017 0.060789
7 7 0.026436 0.027789
8 8 0.010051 0.011116
9 9 0.003350 0.003952

10 10 0.000991 0.001265

11 11 0.000263 0.000368



In [6]: DT[' Difference’ ]=DT[ Binomial ]-DT[ Poisson’]
DT

Out[5]:

x Binomial Poisson Difference

0 O 0.038168 0.040762 -0.002594
1 1 0127226 0.130439 -0.003213

2 2 0.209394 0.208702  0.000691
3 3 0.226843 0.222616  0.004227
4 4 0.181947 0.178093  0.003854
5 5 0.115233 0.113979  0.001254

6 6 0.060017 0.060789 -0.000772
7 7 0.026436 0.027789 -0.001353
8 8 0.010051 0.011116 -0.001064
9 9 0.003350 0.003952 -0.000602
10 10 0.000991 0.001265 -0.000274

11 11 0.000263 0.000368 -0.000105

In [6]: # FEESHOWEE (FEBHEIEICER TS LEAID)
fig = plt. figure(figsize=(5,4))
plt.bar (x_range, BinProb, width=1, color="red, ec="black’)

Out[6]: <BarContainer object of 12 artists>
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In [7]1: fig = plt.figure(figsize=(5,4))
plt. bar (x_range, PoProb, width=1, color="blue’, ec="black’)

Out[7]: <BarContainer object of 12 artists>
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In [8]: fig = plt.figure(figsize=(5,4))
plt. bar (x_range-0. 25 BinProb, width=0. 5, color="red", ec="black)
plt. bar (x_range+0. 25, PoProb, width=0.5, color="blue", ec="black’)

Out[8]: <BarContainer object of 12 artists>

0.20 1

0.05

0.00 -

In [9]: # FEERDHDLLE:
fig = plt. figure(figsize=(5,4))
plt.plot(x_range, BinProb, color="red’, label="Binomial’)
plt.plot (x_range, PoProb, color="blue’, label="Poisson’)
plt. legend)  # FLBIDZERR

Out[9]: <matplotlib. legend. Legend at Ox1ae40d0e850>
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